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Eukaryotic cell is one which contains a nucleus.
Prokaryotic cell is one which does not contain a nucleus ) O
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Digestive enzymes break down large insoluble molecules into

smaller soluble molecules flagelium (is not covered in a membrane and not
all bacteria have them, but some have many flagella) eyepiece lens —_
The enzyme for breaking down protein is protease plasmids  chromosomal DNA

The enzyme for breaking down carbohydrate is called amylase The

. — = = li at (f - fine §
enzyme for breaking down fats and lipids is called lipase B Dacioris have this) | e 8
the focus in
An enzymeis a biological catalyst The substances that enzymes flexible cell wall {for support — not ; STl Aot
made out of cellulose) coarse focusing
wheel — adjusts —_|

work on are called substrates cell membrane the focus in |

. large amounts
cytoplasm (contains ribosomes, which g

are smaller than eukaryotic ribosomes)



N

(]

(o))

Knowledge Organiser: Biology, CB1b

Diffusionis the movement of particles from an area of high
concentration to an area of low concentration
Osmosisis the movement of water particles from an area of

high concentration of water particles to an area of low
concentration of water particles across a semi permeable
membrane

The difference in concentration between two areas is known
as the concentration gradient

Active transport is the movement of particles against the
concentration gradient and requires energy to do so
Diffusion and osmosis are passive process which means they
do not require energy to take place.

Active site is the space in an enzyme where the substrate fits
during an enzyme catalysed reaction

When the shape of an enzymes active site has changed shape
due to heat or phso will no longer fit the substrate, we say it
is denatured

Lock and key model describes the way an enzyme catalyses a
reaction when a substrate fits withing the active site of the
enzyme
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The transporter protein changes
shape and carries the molecule
across the cell membrane.
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two different

The active site holds the substrate

molecules tightly in the right position
for bonds to form between them and

make a product molecule.

one product
molecule
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The product molecule is a slightly
different shape to the substrate
molecules so it no longer fits tightly
in the active site and is released.

substrate molecues@\ (

Reaction Catalysed

Breaking down starch into
small sugars such as maltose

Breaking down hydrogen

peroxide that is made in many
cells reactions into water and
oxygen

Synthesis of starch from
glucose

Synthesis of DNA from its
monomers

enzyme -_

active site

Rate of reaction

normal conditions

1

substrate
maolecule

BNZyme
maolecule

extreme conditions

shape of active site
has changed substrate
will no longer fit

denatured enzyme

How the rate of an enzyme-controlled
reaction depends on pH
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Haw the rate of an enzyme-controlled
reaction depends on substrale concentration

Al high concentrations, most anzyma
activa sites contain substrate mokecules,
and the rate of reaction s as fast as il can be.

Al low concantrations, many enzyme
molecules have ampty active sites
=0 the rate of reaction is show

Substrate concentration

How the rate of slanch breakdown using
an amylase depends on lemparature
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